[*133]
2 1 3
1)
1
1993
1015
808
1992 7
5

1.3.8 21
1993
14 1992

5)

93
3.12.17

23

[*134]



16 1992

[*135]

[*136]



2 1 3 9
5 5
1018
1993
2
2 1 3
2 1 3
2 1 3
1 3 [*137]
1996
2 1 3



A
A
[*138]
2 1 3
2 1 3
2 1 3
4212 793 239
2 1
2 1 3

[*140]



2)

[*141]

29



2 1 3
8.12.25 28 4 821
54.7.9
11 2 371 92
1995
[*142]
3
3
7.4.25 28 1 164
8.3.29 28
140
2 1 3
2 1 3



3)

[*145]

10

[*144]



[*146]
)
2)
48 5 1995
48 8 1995
3)
2 1 3
223

1994

50 51

2 714 15

1996

222



225



[*139]

10



[*140]

11



